Practice for Unit Circle Part 1

I
1. [6 marks] :
L5 4
Given thatsinz = %,where0 <z< %,find the value of cos 4z. ﬂ . x%1 =q
xt=3
005(4X)= Cos?(ax) - 5102 (ax) X= 272
9 LO’QR)-';% %=1
2 . za(Eya| =
= (cos(@))” - (5in (a%) . B0 costin- A TR
. x S\ =\
- (1 25 - (asinncosn) =
. | 2
2 1 -4 THSIA K = dainix oBl s
1y g (3)Y - 4(4)3(i>
=1- 4 (371 (3 3/ L3
- 4
=1 - 4 s 2
= -3l
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Letsin§ = Xg—'}, where 8 is acute.

Find cos 0.
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3a. [4 marks]
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Given thatsmz = 1

find the value of COS T;
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3b. [3 marks]

find the value of cos 2z.
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4. [7 marks]

Solve cos 2z — 3cosz — 3 — cos?
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where T is an obtuse angle,
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x = sin’z,for0 < z < 27,
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QUIZ: Verifying Trigonometric Identities

Period Date

Name

Directions: Verify each identity using trigonometric identities.

csex
=cotx
1, secx 2. secxcotx =cscx
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3 (1-cos’x)csc’x =1 4, (1+tan® x)sin® x = tan” x
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sinxcosx

=cotx .
5 (1+cosx)(1-cosx) 6. cot x —cosx = cot x(1 - sin x)

secx sinx

. = cotx 2 22 . 2
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